Root exercises (ver.241011)

[Exponent Rules]

Choose the solutions from the word bank below the table and place them in the right position
in the “Solution” column. Then choose the type of exponent rules you have used from the
word bank and place them in the right position in the “Type of rules” column.

You may choose the same solution and the type of rules multiple times.

“Solution” D ZEHICIE L W& 2 23 E 2 HIEA TROA L e v, 72, "Type of rules”iC
L 7= f5 8 o PRI HRE 2 38R 0 8 A TR A L 2 & W, BRI IR R U 3 o & 54k
fEALTH R,

Example Solution Type of rules
x6-x3 = x° Addition of the exponents
x® :
= = x3 Subtraction of the exponents
X
(x%)3 = x18 Multiplication of the exponents
3 x6 = x? Division of the exponents
6 o
X3 = x? Division of the exponents
1
x~6 = — Inverse of the exponents
X
1
X2 X3 X9 18 L
X
Addition Subtraction =~ Multiplication
Division Inverse
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[Roots Basics]

Calculate (Simplify) the following root expressions. 5 D H % fHEIC L 72 X\,

D Vx-x-xx-xx=vx 2k )k )=x x-x=x°

2) Vxb =x672 = x3

3) vV3-3:3:3=B-3'B3=3:3=9

4) 3t =3%2=32=9

5) Jx x x 'y y= B xP=xyx

6) \/x3—y2 = x372y2+2 = x\/E'y — xy\/}

7)N2-2:2-3-33=2-22B333=2-3/2-3=6V6

8) V23-33 =2%+23%*2 = 212-3V3 = 6V6

9) V16 = V42 =4

10)V32 =442 =42 2)216
2) 108
2) 54
3) 27

11) V216 =+2%-33=2-3V2-3=6V6 372

2
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12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

i/x-x-xzsx-x-xzx

Va? =x3%3 = x

V22 2=3Z222)=2

V23 =233 =2
ErwE = T = AR

3 = 3
x* = x*3 = xx

V2:2-2-3:3-3=32-2-2{3:3-3)=2:3=6

V2333 =23"3.333=2.3=6

2) 216
, . 2) 108
V216 =V23-33=2-3=6 2) 54
3) 27

3) 9

3

V2253 = 2273. 5373 = 5322 = 54

VY500 = V2253 = 53/4 2) 500
2) 250

5) 125
5) 25
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[Fractional exponents and roots]

Filin the blank boxes. 21248 7 5 1.
1) Vx = x%

2) x5 = Yx

3) Y2 =2

4) 26 =472

5) Vx2 = X3

6) xé = 3/x?

7) 23 = 2

8) 27 = 2%
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Calculate (Simplify) the following root expressions. 5 D H % fHEIC L 72 X\,

8

1) 22=28"%=22=4

2) V28 =28"=22=4

2) 256
, , 2)128
3) 256% =2%% =22 =24 2) 64
2) 32
2) 16
2) 8
2) 4
4) V256 = V28 = 28+4 =22 =4 2
5
5) 33 =353 = 33/32
6) /35 =357 =332
3)243
1 1 3) 81
7) 2433 = 35 = 33/32 3) 27
3) 9
3

8) Y743 = V3 = 332



